H & 0l & AHS B Ml A

SA I A
g 28 SEXE HAH 2=
e P FAE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
J |20l &k 10k 16,122,067 27,367,474 N12,245,417
Al 56,789
- 16,065,268
8 SN WA +=5 266,230 172,920 93,310
T8 FRAIE 2t 78,140 67,550 10,590
THA & HOALY MtA =& 56,140 50,550 5,590
201 =3 33,140 32,650 490
01 At22t2l] 33,140 32,650 490
Ogerrgt| 27,540
0FQUAL HEM HE
72,0002 +70% 5,040
o EWA IZH(e-book) 2,700,000& 2,700
oS AHYREDAM MH
19,800, 0002 19,800
O=g+y 5,600
0 BOAOIMEIIE 31O &
70,0003 20 *42] 5,600
203 2=l 23,000 15,250 7,750
03 A=A PR FZ| 23,000 15,250 7,750
OJI&IaE AR =& 23,000,000& 23,000
TSRS =Y 22,000 17,000 5,000
201 2= 20,000 15,400 4,600
01 At22telt] 7,000 7,000 0
O=2g=+¢ 7,000
o NSNS 39 =F
70,0003 x25Z #43] 7,000
03 A2 Y| 13,000 8,400 4,600
Ool%7 PFSN 938
13,000,000& 13,000
301 2PEN= 2,000 1,600 400
11 AALEEIXIRE S 2,000 1,600 400
Oel47 2SN 938 2,000,000 2,000
=U -2 usgs sd 183,840 105,370 78,470
=UHuE g5 21,000 18,150 2,850
202 04l 1,800 1,800 0
01 =LHAHI 1,800 1,800 0
O=UAHEAl WSS HAEN ol
1,800,000& 1,800
203 =4l 15,000 15,000
03 A=A 2= 15,000 15,000
oJlgs =e 15,000,000& 15,000
301 LEIE NS 4,200 1,350 2,850
09 2Iel=E 0| 4,200 1,350 2,850




2 JIE0 A
o AN SN WA 7S
=2 =4 - 2 negEd sd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IEENEEESET 4,200,0002 4,200
290 AN 162,840 87,220 75,620
201 Yer2 Y| 13,340 12,220 1,120
01 AkR2t2|H] 3,340 2,220 1,120
OetagY| 2,500
02I=0l L U Q=20 [E S|
2,500,000 2,500
o2g+y 840
0BRRABE MAIPIRE BAAY
70,0002 %32 *43] 840
® ZZ2YY| 10,000 10,000 0
O2HEKA JIs 22
10,000,0002 10,000
202 01t 91,000 57,000 34,000
REEEE 64,000 30,000 34,000
OZMRBEX L 2H 5|9 &4
64,000,000 64,000
04 =301 bl 27,000 27,000 0
O = P2 27,000,0002! 27,000
301 YBHBHB 58,500 18,000 40,500
CEEES= 58,500 18,000 40,500
029 DETAl PEH
58,500,000 58,500
IISERR2Y ALY 29 4,250 0 4,250
NIRRT IISERILAALY X2 4,250 0 4,250
308 REXIEHHISOI & 4,250 0 4,250
13 20| 2SO CHEH AR 2|t ALI | 4,250 0 4,250
ORXIEH IISERDLAALY Xyl 2
2 4,250,000 4,250
NLHE2 12,132,431 11,314,501 817,920
WEol s8N 2ol 2 29 357,073 290,049 67,024
oflarsl 2rel 57,663 101,153 43,490
201 YEr2 Y| 43,983 87,473 43,490
01 Ak 2t2|t] 43,983 87,473 A43,490
OYgtag| 39,1%
oOlIAES JIZXIBN M 945
Ofl A &40 (B 0L )
9,9002I¥505 4%
Ofl A &40 25 (014 70)
9,002 *505 450
0205 =0 Ak 8,910
- HIHIS O AH(OH) HIR
56, 7002 *505 2,8%
- HISAFS A AL (RH) R
64,8002 *505 3,240




2A:

A NEHE2YE
=t B 288 22 € =29 CEEREE
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
NI ME0AA JIZE
56,7003 #5052 2,835
oOllatet HRAZF M
18,0002 x50 900
020253 HQIXl Oflat 1,476
- HOIXIGI ALA (OF) HIZ
18,9003 x40% 756
- HOIXIGI A KR 18,0002 x40 720
020259 &= GllAFE IEHIZIA (OF) M=
18,0002 x50 900
020259 < OllAFEIEHIEA HIZ
18,0003 x50 900
020244 S FOHZE 0l & 22,545
HIZAISHIAH(CH) RIZ
36,900 x50 +33] 5,535
- NISAIEEHAM () HIZ
41,4003 +502+32] 6,210
NI ME0AA JIZE
36,0003 x50 2 +33] 5,400
- Ol AFE DEHIEI A (OF) HIE
18,0002 x50 2 *33| 2,700
- OlAHE AR MR
18,0002 x50 *33| 2,700
o ZSIINLTHEHEMN M
31,5003 x50 1,575
0JI22EAHEAM () M=
9,900& 302 297
oJl=2EHEM M 9,900 *30% 297
o MEBAl Itz HMIZ
9,000 *202*23] 360
o Oflab2ted AL 2 90,000 0
o2gs4Y 4,783
O UM DD UASI RS EA ST
70,0002 x4 %13| 280
oEX - EAHIE 2F o3 A
=1 70,0003 *9H x13| 630
0BAMHAISIRE EA S
70,0003 x6H *43| 1,680
oSEMECHESD|Z ARdE &Y
70,0002 x5 43| 1,400
o =AIHl &2 I3 WFAA=
350,000& *13] 350
o= AlHl &8 dEdst nFANZ
3,500 * 1401 *2A[ 2t B
o0& - SIHAS AHAS WFZAIZ
350,000& *13 350
202 bl 1,080 1,080
01 =LHO4b 1,080 1,080




2A:

BH: YWY
Rl WES s55 22 & 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ol 2t 3|0 &4 1,080,000 1,080
204 AR A 12,600 12,600
02 E3g 23| 12,600 12,600
OS&g 3| 150,000 7+ 122 12,600
a8t Ka 7,000 7,000 0
303 Zal= 7,000 7,000
01 2= 7,000 7,000
onlldtg s K= 7,000,000& 7,000
ANgEr=2el?s 2 7,850 7,850
201 er23 | 7,850 7,850
01 At2t2ltl 7,850 7,850
OXg2xs4a2 MIt M=
2,250,000& 2,250
O=2g=¢g 5,600
oNYEII A HALY
70,0002 * 102 +82 5,600
MHE2eIAIAE 29 194,004 57,824 136,180
308 XtXIEMSO0IH 113,008 17,069 95,939
18 SIS0t 4 A A A 113,008 17,069 95,939
OSSNLMEAAY 28 2 FA22H]
=83 113,008,000& 113,008
403 AXIEtMSAH=01d 80,996 40,755 40,241
02 SISOt =2 A P E A I 80,99% 40,755 40,241
OSSXNLME Moll=2AIAE =M 28
= 80,996,000 80,99%
HIMEEXNHANAE 2 7,5% 30,222 N22,666
201 =3 7,5% 7,122 434
01 At2t2lt] 7,55 2,172 5,384
O2ctZ GIOIEHIoIA cloldIALIE
1,716,000& 1,716
OUAESXIHAAY R
5,840,000& 5,840
POOL &I XI& 83,000 83,000 0
201 et 3| 43,000 53,000 10,000
01 AtR2tc|Hl 43,000 53,000 10,000
Ol gt==2H](POOL) 40,000,000 40,000
O= &kl (PooL) 3,000,000& 3,000
202 04l 30,000 20,000 10,000
01 =LHAHI 30,000 20,000 10,000
O=Z 041 (Po0L) 30,000,000& 30,000
405 KHoHFSH| 10,000 10,000
01 IR ESFSHI 10,000 10,000
ORter & JI|1 72248 (POOL)
10,000,000& 10,000




SA O A
BH: YWY
ol EEH0 301 2l (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S88el 2J|Y 2el 11,775,358 11,024,452 750,906
AdotM e | SE 2 11,775,358 11,024,452 750,906
308 XXM SOIA 1,772,078 10,995,302 776,776
18 SIS0t oA AS A 11,772,078 10,995,302 776,776
OAlgetd el SE ALY
11,772,078,000& 11,772,078
403 AXIEHMSAH=201d 3,280 29,150 N25,870
02 SVI2S0 U H=E S AL 3,280 29,150 N25,870
OAldotEate| SE HRAIZHI
3,280,000 3,280
FRIEe| HIEH £d 216,047 227,107 211,060
HRHE MHIA K& 169,082 170,902 1,820
asd X 169,082 170,902 A1,820
201 er2 3| 136,632 138,452 1,820
01 AtR2t2|HI 136,632 138,452 1,820
Oogegt+=EHI 136,632
0 AEHIS 120,000,000 120,000
o NSHBA N
77,0002 %1824+ 12 16,632
303 Z&af= 2,250 2,250
01 &= 2,250 2,250
Oas8it 2o=
75,0008 x2& x 1521 2,250
305 HHal= S 30,200 30,200
01 =S 30,200 30,200
Ozofitha= 30,000,000 30,000
Oadlgd=s 200,000 200
Agelsl g=5dst 46,965 56,205 29,240
N2ol2et FAMA 23t 46,965 56,205 29,240
201 fer23| 46,965 56,205 N\9,240
01 AtR2t2|HI 46,965 56,205 A9,240
El=last =l 46,965
oA E A= 45,0002 x6E 270
023U REN g HMH
49,5003 x1102+23] 10,890
o HEARZAHKIR)
148,500 *1102+12] 16,335
O BBALLARZAR)
55,0002 #2108 13 11,550
o HIMBLAHEXIZ )
36,0002 x1102+23] 7,920
qdits4e 88 2 87,770 80,071 7,699
YR EI=2E 76,670 75,221 1,449
AHEIL =249 76,670 60,221 16,449




SA I A
. MUEAY PHEI} 2
e FHYREIIES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 40,820 19,101 21,719
01 At2teltl 40,820 19,101 21,719
Odgt+=ZH| 33,020
o AtHIE JH 2 AH M=
18,0002 *90 = *32| 4,860
o L&t Xtz CIAre!
742,500 %224 1,485
otHRAEIt Xi= ZRXA+ MIH
31,5003 »30=% 945
02FEIL & 2 MAH
450,000 *4 K 1,800
oA T2 Bt ALE
500,000 1 *43] 2,000
o XtHIEIL ALE(RA)
100,000 «8AI 2H+32+3H 7,200
o RHHIEI AHE(S)
100,000 +15/+3& 300
oEEE M 30,0002 *31H 930
oHE2g LEE LA 13,500,000 13,500
O=28+¢ 7,800
o NHMEIRIAS 3o F44H
70,0003 * 122 +52 4,200
O AHMIBIIRE MAE
50,0003 * 12 *62] 3,600
303 Z&a= 35,850 41,120 A5,270
01 Za= 35,850 41,120 A5,270
ORHZIIRSTRE Ty
20,850,000& 20,850
OO0 ot Z2ak= 15,000,000 15,000
TAUMZ HalHY =X 11,100 4,850 6,250
RN =N 28 11,100 4,850 6,250
201 223 1,000 1,000 0
01 At22t2lt] 1,000 1,000 0
OXBSA 18 A2 500,000 *13] 500
OXIdE W= A= 500,000 12 500
303 Z&a=s 10,100 3,850 6,250
01 &= 10,100 3,850 6,250
O 22N 24 1,200,000& 1,200
O8Y *+2A4 & 1,200,000& 1,200
Ol HOE 24 D@ T
1,000,000 1,000
OX=dy 2+ 573 2y
6,700,000& 6,700
TADHE Z= 3,800 3,800
AN At 3,800 3,800




2A:

X XH -
o=

JIE0ll &t
THOHE EH

&Pl MM A2t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A EH 3,800 3,800

201 er23 | 1,800 1,800
01 At2teltl 1,800 1,800
O=28+¢ 1,800
otHINE R BA+E
70,0002 x5H+33] 1,050
oA RIE 3l MAE
50,0002 x5 *13] 250
otHDIE F ZAIE 500,000& 12 500
303 Z&a= 2,000 2,000
01 &= 2,000 2,000
OFNIEREA 2aa 2,000,000 2,000
d=2st JIBHHA A= 1,086,090 2,179,361 21,093,271
Al 56,789
- 1,029,301
38 2 124,162 123,989 173
Al 56,789
- 67,373
HZAL = 124,162 123,989 173
Al 56,789
- 67,373
101 21AH| 33,676 36,561 A2,885
Al 14,421
- 19,255
M ORNZZ2NSE S 33,676 36,561 2,885
OAISHM AL 22|23 2124H|
28,842,000 28,842
Al 14,421
T 14,421
OSHZAL §RELE 12|
4,834,000& 4,834
201 et 3| 90,486 87,428 3,088
Al 42,368
- 48,118
01 AtR2t2lt] 90,136 87,078 3,058
OASHMZAL ZAHE =€
84,736,000 84,736
Al 42,368
- 42,368
Od==7J|2SH &2t 45,0002 *100% 4,500
OSAAgd 2| 900,000 900
2 S52g4l 350 350 0
OSHgRZd Rz 350,000 350
UNEIFSPNFSE 961,928 2,065,372 A1,093,444
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S JI0AD
M ML B PE

gelr NgENEE 28 (SH9 H2)
SA - B BRA(SH) - HRA - of v e HIDE2
OMSdE AblA tia3 2|
6,950,000& 6,950
O2Ltct |XAl2el 23,400,000 23,400
oliglgl 1,283,943 1,943,849 659,906
Gilall:] 1,283,943 1,943,849 659,906
Glla11]] 1,283,943 1,943,849 659,906
801 OfleIH 1,283,943 1,943,849 659,906
1 8Holiggl 1,283,943 1,943,849 659,906
Oggr ol 1,283,943,000& 1,283,943
AY2FZHI(O1= 0t 45,746 45,860 A114
JI%%tH(jli'OﬂAHH 45,746 45,860 A114
J123Hl HISAIL (O12{0] At 45,746 45,860 A114
201 =3 32,426 27,788 4,638
01 AtR2t2ltl 32,426 27,788 4,638
Oget=ZH| 54,5003 x25F « 122 9% 14,740
OR&d 28| 2,520
o ZtrZH| 180,000& * 12 2,160
od=Jl o= 30,0002« 128 360
OAN&EY 24Xz 766
0 ZIIHHII(Ol4HEAA)
29,9003 * 122 359
oA SIIFFI| Yig
33,9002~ 122 407
O=gl 8,000 x25H 64! * 122 14,400
202 04l 4,320 9,072 N4, 752
01 SLHoIH 4,320 9,072 N4, 752
OO0l 10,0003 »20E x22 122 9% 4,320
203 HR=H| 9,000 9,000
01 D[22 LR FA| 4,800 4,800
OJ|2=dg Al 4,800,000 4,800
04 PAE2EERFAH 4,200 4,200 0
ORMEZE =4 350,000& * 122 4,200




SA BRI

H & 0l & AHS B Ml A

HE: s =SETADB RS
ol =eEdEH & JyE s (CHel: &2l
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
AKX 1t 1,524,932 3,925,382 A2,400,450
= 167,800
Al 216,254
- 1,140,878
Ts SETADIE 25 543,543 1,418,299 AB74,75%6
= 124,600
Al 137,886
- 281,057
sZEM L ZHH L5 47,604 921,975 A874,371
= 15,548
Al 12,808
- 19,248
SEE 23 2l 2,480 2,480 0
201 B2 AL| 2,480 2,480
02 2324l 2,480 2,480
Osgs 23 dl|=z 40,0002 = 12& 430
O=sd&8 23 2cldl 2,000,000& 2,000
SESASEZEN XA 9,000 9,000 0
Al 4,500
- 4,500
402 QI R=01H 9,000 9,000 0
Al 4,500
- 4,500
02 QIZIXEAMEEE(OIMTHS) 9,000 9,000 0
OsAE =Z3M XA 9,000,000& 9,000
Al 4,500
- 4,500
SHEA MEFSZ XJALY 10,774 10,774 0
Al 5,387
- 5,387
307 212+01™ 10,774 10,774 0
Al 5,387
- 5,387
02 QIZHA A AL E X 10,774 10,774 0
O33N A d2R=EZ 10,774
ost==s0{RIAE 274,000 274
Al 137
- 137
o(F)sE0HAZ 4,320,000& 4,320
Al 2,160
- 2,160
o=sYolAlZE 6,180,000& 6,180
Al 3,090




2A:

BH T =ETADY PE
&Pl SHEM I JHE L5 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| e 3.000
Jl2d SYXSAA 9,000 2,693 6,307
= 9,000
301 LPBNEZ 9,000 2,693 6,307
= 9,000
14 J|EI2 43 9,000 2,693 6,307
OJl28 SYXNEAY 9,000,000& 9,000
= 9,000
Jl2d SUNSAIY dHZZH| 850 1,000 A150
= 850
201 L2 AY| 850 1,000 A150
= 850
01 AtR22eltl 850 1,000 A150
OJl2g SUXN =M Al
850,000& 850
= 850
S0 HNEEZ XA 3,400 11,900 8,500
Al 1,700
- 1,700
307 212+01 ™ 3,400 11,900 A8,500
Al 1,700
- 1,700
06 232 3,400 11,900 A8,500
O=deol ctdE8dz K& 3,400,000& 3,400
Al 1,700
- 1,700
SKIOIZAEHZAL K& 8,140 8,960 A820
= 5,698
Al 1,221
- 1,221
101 2124l 8,140 8,960 AB20
= 5,698
Al 1,221
- 1,221
M IIZINZ2 2SS ES 8,140 8,960 AB20
OsXO0IZAENRAF O1AH] XI&
8,140,000& 8,140
= 5,698
Al 1,221
- 1,221
sKAs 29 3,960 3,960
201 B2 AL 3,960 3,960
01 A=R2teld| 3,960 3,960




2A:

NE: T ZHEADE DS
el sEEY 2 38y 4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsXARs =& 70,0002 12 #43] 3,360
OsA#da 24| 600,000 600
AEAE dab|gt 4 22,574 44,150 N21,576
Al 7,031
- 15,543
2EEE YHE 59 7Y 2,000 2,000
206 M=l 2,000 2,000
01 =l 2,000 2,000
OYLHHE YHS oY
2,000,000& 2,000
SIIZHI SRR (2-12H X0l LA ) (HEANY) 20,574 20,574 0
Al 7,031
- 13,543
307 el2to| & 20,574 20,574 0
Al 7,031
- 13,543
02 QI BHANEEX 20,574 20,574 0
O=JIZ HIg K& 20,574,000 20,574
Al 7,031
- 13,543
SME OHM - 2| 267,173 264,402 2,7mM
= 18,564
Al 60,195
- 188,414
IEHgY A=9E Y 500 500 0
Al 250
- 250
206 M=l 500 500 0
Al 250
2 250
01 WEHI 500 500 0
ONERYY A58 7Y
25,0003 205 500
Al 250
- 250
THS Al EAST PY XJA(ZHE HLEE) 5,600 5,670 AT0
= 1,848
Al 791
- 2,961
206 M=l 5,600 5,670 AT0
= 1,848
Al 791
- 2,91




FA BRI
M T SEHCAD|Y P&
Rl FAE ol - g2l (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 5,600 5,670 AT0
OZHg Hal 2g 5,600,000& 5,600
= 1,848
Al 791
- 2,961
Z2AE WEFA Al XI& 17,500 17,500 0
Al 8,750
- 8,750
301 EtE N = 17,500 17,500 0
Al 8,750
- 8,750
14 0Bt 243 17,500 17,500 0
OmAY HIYFE A2t
5,000& *3,5005 17,500
Al 8,750
- 8,750
SRS GPS S| AR K& 660 660 0
= 330
Al 165
- 165
402 2I2E X201 & 660 660 0
= 330
Al 165
- 165
02 BIENZASEZ(0IETHR) 660 660 0
OFAXE PSHEI| SAIEA X2
60,0002 * 11CH 660
= 330
Al 165
- 165
22299 & AE2 9,000 9,000 0
301 22N 9,000 9,000
14 JIEt2 8= 9,000 9,000
O3=2 =& 750,000 * 122 9,000
RIlS=2 36,000 36,000 0
Al 7,200
- 28,800
301 EtE N = 36,000 36,000 0
Al 7,200
- 28,800
14 0Bt 243 36,000 36,000 0
KIISSES(=2) 150, 0003 »2405 36,000
Al 7,200




2A:

ZHIX 2 2t

B o 2HCADE 1E
el SatE ofd - gt (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 28,800
SIlSsS2el(XHA) 45,236 44,612 624
201 et 3| 2,010 1,860 150
01 At22t2l] 2,010 1,860 150
OSESYSMHE NEARS +g
70,0002 3% *13] 210
OS=:EsY 28 222 M 1,800
0EE= 3503 *2,000& 700
oY 55,0003 »20& 1,100
206 M=l 1,226 1,952 AT26
01 MHZHI 1,226 1,952 AT26
OSESE M=l 726
0S=SS0IE 330&+2,000& 660
o &Atel= 33,0002 *2H 66
ORJIs=dc=3 500,000 500
301 22N = 42,000 40,800 1,200
14 JIEt2 8= 42,000 40,800 1,200
ORIISEES (02 42,000,000 42,000
Ra - RIISS 2el=E e XA 13,020 11,200 1,820
= 3,906
Al 4,557
- 4,557
301 22N = 13,020 11,200 1,820
= 3,906
Al 4,557
- 4,557
14 0Bt 2a3 13,020 11,200 1,820
OR&RIIs= 7 258 A&
70,0002 * 1865 13,020
= 3,906
Al 4,557
- 4,557
Hls= X =Yl K& 3,600 3,600 0
Al 1,800
- 1,800
301 LELEE S 3,600 3,600 0
Al 1,800
T 1,800
14 IIEt2d3 3,600 3,600 0
sIls2 gdXEH K&
60,0002 600t 2| 3,600
Al 1,800
- 1,800




FA BRI

M T SEHCAD|Y P&

Rl FAE ol - g2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
RERIISES LAl XA 4,500 4,500 0

= 2,250
Al 1,125
- 1,125
307 212+01& 4,500 4,500 0
= 2,250
Al 1,125
- 1,125
02 QB HANEER 4,500 4,500 0
ORJIs=S &l XE
150,000& »305 4,500
= 2,250
Al 1,125
- 1,125
SOH(OFMA) EE ALY 1,500 2,500 21,000
Al 450
- 1,050
301 LEIE NS 1,500 2,500 21,000
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